EARAROBEEIERT — 2 N— IBISH —F

2017510598 (B) 8EIEER6H

é?é?iﬁﬁ!ﬁ%“ C1m#E 5% —M B IR
[AE£] 1% :260,000 " ~ 2#%&:52,000”  33%&:26,000M . 43%&:19,000 M 53 :7,000 8
& %B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
oS 405 £ LA B 1:41.2 1-1 . — 1 4 HEEE ()
1 . AL 73 50 i 9 :95) MY
R:x > TANZ N B:A44T7I2IL H—L—-Jv/X> - T7—LARS
S ¢ > o4 | WLAKEE 1:43.0 2-2 Mna1l - 4 416 | FREFR (KiR)
2|8|12| LT ¥~ 11N%~ 5.0 (514) () |EEAH
L:F=TAN N BiI—-So -T2 BERS
. = 4 6 | EHASE 1:43. 6-5 40.1| — 5 473 | EEEREE (KGR)
3/5|5|E2a—077—1 56.0 (7€) (o) | EAAE=
R:F—TA2NT b BiXryUTaALIVaY Rt
47 | SREBE 1:43.3 4-3 40.7| — 2 468 | =FH=E (KR)
41111 |F>A RS F1 b 56.0 (1 1/2) (o) |EEEL ’
LZL R Y E—T B:vyx—NERX =H =B
2 VIS # 5 | ANKIBE 1:43.5 7-7 4.0 — 8 480 | AR GKR)
5\7|10| STALINAT 54.0 @/ Lo |EEBET
LIVNATA—h— BT ATTTY & RS
S $5Ath :43. = . — 1EEnE (B&E
61811 H—1)—%A b % 1 it 1(423)8 3-4 41.5 3 (4+723) Ll
RL:d—IR7Ya2—Ib B:3/0H—1)— BREHS
. ROE— : = - BRAS (KR)
7 7| *EUTIT YR "5 56.0 1('14/32'>9 &e .9 6 5:70) ;ggmg%
RHLRA LY E—T BT IA Ry K HOMS
_ . . BTl : — — 1% hEl (KR)
8l7lg|Z7vF¥—d—-JIK 6 2% };‘l‘:l? 9 8.1 ! :ig) NEE=
R:w>NyBgh7x B:717U—-014—> AL
- NN AIESRE 144, — . - =g (KR)
9 gV JXAFINKY o4 A52I._0 1(14/42)1 6 40 " (4;4) ;%T'E?%?-
RALNTyTIE BiAA Y3y —h— FREHIS
—ss —: o8 | AVRE 1:44.7 11-10  [39.3| — 10 | 483 |E#AERl (KiR)
10/ 51 6 TURIT—4 ¥¢55.0 (4) (+5) | KTt
RHIINISF— BRARNS—ZX by T HET7— L
. . t 9 | BERRE 1:45.2 12-12 [39.7| — 12 | 41 | EEE (KR)
N B EAS TS - @ G | B 9PN
R:TTRTLE— BiRE2—U—FA1 b ANIVES b T7— L
o . “ ERRE :46. - . — BRAS (KR)
I 3l E—2Tn—y it 4 o 1 (466)1 10-11 [ 41.0 9 <4+338) fiﬁ%lﬂﬁ;‘% g
L:€r/0704 B9 vU-F2R &R B—
® I —F—EBIERL
13—7—
23—7F—
30—7+— 4,12,11,1,8,5,10,7,9,3,6,2
41—+ — 4,12,1,11,5,8,10,7,9,6,3,2
[ RN
B OB 4 130H4 714K 4-12 290M e & 4-8 240M &R 4-5-12 1,430H
7 B 4 100 4-5 20| | B = 4-12 570 | | 3=H 4-12-5 2,740M
12 160/ 5-12 770M B H 4-12 620M
5 180F4

ABICOVWTRDTEEERROODE. TR LIV,




